		Summary of Bids Receiv	ed			
	Project: 2023 Pavement Markings and	d Markers Replacement				
	ection: 23-00000-15-GM iption: Pavement markings and mark	/prc				
CPI	MS Pin: B-01472 t Date: 5/9/2023	C.I.S				
	Face. 3/3/2023					
Bidder Superior Road Striping, Inc.	Address 1980 Hawthorne Ave.	City, State, Zip Melrose Park, IL 60160	Bond Bid Bond	Bid Price \$949,833.50	% Over/Under Eng. Estimate -0.91%	\$ Over/Under Eng. Estimate -\$8,691.3
Engineer's Estimate				\$958,524.80		
Design	IDOT(2)	Contract Bidder	_	County Engineer		
Finance	Bid Tab File	Resident Eng.		Mgr Capital Progran	nming	



Return Bid Tabulation

Project: 2023 Pavement Markings and Markers Replacement

Section: 23-00000-15-GM

Description: Pavement markings and markers

CPMS Pin: B-01472 **Let Date:** 5/9/2023

Item No.	Pay Code	Description	Quantity	Unit	Fna Fct	Eng Estimate		Superior Road Striping, Inc.		
Telli ito.	r uy couc	Bestingtion	Quantity Similar		Unit Price	Extnd. Price	Unit Price	Extnd. Price		
1	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	15,341.00	SQ FT	\$4.50	\$69,034.50	\$5.00	\$76,705.00		
2	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	389,466.00	FOOT	\$0.65	\$253,152.90	\$0.70	\$272,626.20		
3	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	11,234.00	FOOT	\$0.85	\$9,548.90	\$0.90	\$10,110.60		
4	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	65,992.00	FOOT	\$0.90	\$59,392.80	\$1.00	\$65,992.00		
5	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	13,381.00	FOOT	\$1.30	\$17,395.30	\$1.40	\$18,733.40		
6	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	55,467.00	FOOT	\$2.00	\$110,934.00	\$2.00	\$110,934.00		
7	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	5,860.00	FOOT	\$4.50	\$26,370.00	\$5.00	\$29,300.00		
8	78004620	PREFORMED PLASTIC PAVEMENT MARKINGS, TYPE D - LINE 4"	800.00	FOOT	\$5.50	\$4,400.00	\$7.00	\$5,600.00		
9	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	546.00	SQ FT	\$10.00	\$5,460.00	\$6.00	\$3,276.00		
10	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	2,696.00	FOOT	\$1.50	\$4,044.00	\$1.00	\$2,696.00		
11	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	2,289.00	FOOT	\$2.50	\$5,722.50	\$2.00	\$4,578.00		
12	78009008	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	358.00	FOOT	\$3.50	\$1,253.00	\$4.00	\$1,432.00		
13	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	1,622.00	FOOT	\$5.00	\$8,110.00	\$5.00	\$8,110.00		
14	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	561.00 FOOT		\$10.00	\$5,610.00	\$6.00	\$3,366.00		
15	78011040	GROOVING FOR RECESSED PAVEMENT MARKING 8"	800.00	FOOT	\$1.00	\$800.00	\$2.60	\$2,080.00		
16	78100300	REPLACEMENT REFLECTOR	2,400.00 EACH		\$20.00	\$48,000.00	\$19.00	\$45,600.00		
17	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	10.00 EACH		\$50.00	\$500.00	\$10.00	\$100.00		
18	78300201	PAVEMENT MARKING REMOVAL - GRINDING	254,057.00	SQ FT	\$0.50	\$127,028.50	\$0.50	\$127,028.50		

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Superior Road Striping, Inc.		
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	
19	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.00	L SUM	\$35,000.00	\$35,000.00	\$1.00	\$1.00	
20	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	255,117.00 FOOT		\$0.40	\$102,046.80	\$0.40	\$102,046.80	
21	X7800835	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 6 INCH	32,648.00 FOOT		\$0.70	\$22,853.60	\$0.70	\$22,853.60	
22	X7800845	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 8 INCH	10,168.00 FOOT		\$1.00	\$10,168.00	\$0.80	\$8,134.40	
23	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	634.00	EACH	\$50.00	\$31,700.00	\$45.00	\$28,530.00	
	Bid Total				\$958,524.80		\$949,833.50		



Return Bid Details

Project: 2023 Pavement Markings and Markers Replacement

Section: 23-00000-15-GM

Description: Pavement markings and markers

CPMS Pin: B-01472 Let Date: 5/9/2023

					Eng Es	Eng Estimate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	15,341	SQ FT	\$4.50	\$69,034.50	\$5.00	\$5.00	\$5.00
2	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	389,466	FOOT	\$0.65	\$253,152.90	\$0.70	\$0.70	\$0.70
3	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	11,234	FOOT	\$0.85	\$9,548.90	\$0.90	\$0.90	\$0.90
4	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	65,992	FOOT	\$0.90	\$59,392.80	\$1.00	\$1.00	\$1.00
5	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	13,381	FOOT	\$1.30	\$17,395.30	\$1.40	\$1.40	\$1.40
6	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	55,467	FOOT	\$2.00	\$110,934.00	\$2.00	\$2.00	\$2.00
7	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	5,860	FOOT	\$4.50	\$26,370.00	\$5.00	\$5.00	\$5.00
8	78004620	PREFORMED PLASTIC PAVEMENT MARKINGS, TYPE D - LINE 4"	800	FOOT	\$5.50	\$4,400.00	\$7.00	\$7.00	\$7.00
9	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	546	SQ FT	\$10.00	\$5,460.00	\$6.00	\$6.00	\$6.00
10	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	2,696	FOOT	\$1.50	\$4,044.00	\$1.00	\$1.00	\$1.00
11	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	2,289	FOOT	\$2.50	\$5,722.50	\$2.00	\$2.00	\$2.00
12	78009008	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	358	FOOT	\$3.50	\$1,253.00	\$4.00	\$4.00	\$4.00
13	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	1,622	FOOT	\$5.00	\$8,110.00	\$5.00	\$5.00	\$5.00
14	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	561	FOOT	\$10.00	\$5,610.00	\$6.00	\$6.00	\$6.00
15	78011040	GROOVING FOR RECESSED PAVEMENT MARKING 8"	800	FOOT	\$1.00	\$800.00	\$2.60	\$2.60	\$2.60
16	78100300	REPLACEMENT REFLECTOR	2,400	EACH	\$20.00	\$48,000.00	\$19.00	\$19.00	\$19.00
17	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	10	EACH	\$50.00	\$500.00	\$10.00	\$10.00	\$10.00
18	78300201	PAVEMENT MARKING REMOVAL - GRINDING	254,057	SQ FT	\$0.50	\$127,028.50	\$0.50	\$0.50	\$0.50

					Eng Es	timate			
Item N	o. Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
19	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1	L SUM	\$35,000.00	\$35,000.00	\$1.00	\$1.00	\$1.00
20	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	255,117	FOOT	\$0.40	\$102,046.80	\$0.40	\$0.40	\$0.40
21	X7800835	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 6 INCH	32,648	FOOT	\$0.70	\$22,853.60	\$0.70	\$0.70	\$0.70
22	X7800845	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 8 INCH	10,168	FOOT	\$1.00	\$10,168.00	\$0.80	\$0.80	\$0.80
23	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	634	EACH	\$50.00	\$31,700.00	\$45.00	\$45.00	\$45.00
			Bid Total			\$958,524.80			